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Depending on the diagram in the figure for a system of

a heat engine. What is the amount of Q4?

ol P gyl ol |




30°C 45 5% a0 038 e 2.0 kg AZ0 L 204 el A ke L 90°C &

190 kg C) vl 4 3000 )l (4000 Vig) WS e

of a solid is 90°C. What is the heat required to change 2.0 ks of this
i 9
e

mh*am ] L__E | and 1ts |

. [ S

4.9 = 10 )
1.0 = 10* )
5.9 x10°J
55x10°J
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Heat of fusion 18 t:nlitlﬁl.

Cdue gdl) B ) sad) adal

Specific heat is absorbed.

i._.:-,.'-l\ 2 ) yad) ﬁ-._n.ﬁ
Specific heat is emitted.

- AgeaN) 51 e alad f::'f _
Leat of fucion ic absorbed. B

4.73%
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The thermal energy for the two objects is equal.
A gludia Cpaval) Ga JSI A ) jad) ABal) & 9SS
The thermal energy for the two objects are equal.
Cmaaad) G A ) jad) Alal) JuLS ab gl

There is not flow of energy from one object to the other.

hea Cppaad) G Alalial) A0S 4y ) jad) AR

The net flow of energy between the objects is z«arn::ﬂ"1
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300 K 43, ) 4,39 (897 J/kg K = 4 ) 5] jall) a guial¥) Sala & : .0
9(3.35 x 105 J) 4l Ay 295 13) casall ..mi,,.l...m :r

of aluminum (specific heat = 897 J/kg-K) is at an initial temperature of
:;_1 its final temperature be if (3. 35 X 105]):11 thermal energy is added?

474 K

174 K
424 K
487 K
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he following represents energy transfer caused by motion of particles of the
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conduction

radiation
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The number of molecules decreases.

Adall laas LRalihea! 336 Jdh iy Ja) A8 e A8 ee J13 §

~ The molecules move lower and strike the walls off$he tin less than before.

Agiad) jlaa e b 00 Jid (Al Sl ) maas

The molecules become lighter and have less effect on the tin wall.
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. 2
2 following temperatures (in °C) is equivalent to 312 K? j i

s gyl g Y [:}

21 °C
-312 °C

SO, < T

585 °C
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334 % 10°Vkg eV
2.26 x 10° J/kg il 3 ) s
4180 Jkg K A sillalal
v S A Ayl s Al a0 slall 04 1.0 kg ALis! A9 <l Al 1

Thermodynamic values for water:
Heat of fusion = 3.34 x 10° J/kg
Heat of vaporization = 2.26 x 10° J/kg
Specific Heat = 4180 J/kg K

= = " - - L - l',
Which type of change requires the great amount of energy for the 1.0 kg of waler:
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[317] changing temperature by 100 Kelvin while in the same state.

ela ) addall Ga lgead)

Fowq i s .
- I~ =yl TG ---..a1 swm ras T auw®




